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Q1-A Jar contains 180 liters mixture of milk and water in the ratio of 3: 2 

and y liters of mixture is taken out and 80 liters of water added, then the 

ratio of the milk and water becomes 3: 7. Find the value of y? 

Q1. एक जार में दधू और पानी का 180 लीटर ममश्रण 3: 2 के अनपुात में ह ैऔर y लीटर 

ममश्रण मनकाला जाता ह ैऔर 80 लीटर पानी ममलाया जाता ह,ै तो दधू और पानी का अनपुात 

3: 7 हो जाता ह।ै y का मान ज्ञात कीमजये?

A. 100 L

B. 120 L

C. 180 L

D. 210 L

E. None of these
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Q2-  25 liter of mixture contains 30% spirit and rest water. If 5 liter of 

water added then find percentage of spirit in new mixture is?

Q2- 25 लीटर ममश्रण में 30% मपपररट और शेष पानी ह।ै यमद 5 लीटर पानी ममलाया जाता 

ह,ै तो नए ममश्रण में मपपररट का प्रमतशत क्या ह?ै

A. 12.5%

B. 33.33%

C. 45%

D. 25%

E. None of these
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Q3- The ratio of milk and water in three vessels is 1 : 3, 3 : 5 and 11 : 5. A 

mixture containing equal quantity of all three vessels is made. Find the 

ratio of milk and water in new mixture.

3. तीन बततनों में दधू और पानी का अनपुात 1 : 3, 3 : 5 और 11 : 5 ह।ै तीनों बततनों का 

समान मात्रा वाला एक ममश्रण बनाया जाता ह.ै नए ममश्रण में दधू और पानी का अनपुात ज्ञात 

कीमजये।

A. 7 : 9

B. 8 : 9

C. 11 : 12

D. 12 :13

E. None of these
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Q4- A person using three container for selling milk, their capacity 

being 40 L, 30 L and 20 L respectively. He fills respectively 

87.5%, 80% and 90% of the container with a mix of milk and 

water in ratio 3 : 2, 5 : 1 and 7 : 2 respectively. What is the ratio of 

total quantity to that  of water carried by him.

एक व्यमि दधू बेचने के मलए तीन पात्रों का उपयोग करता ह,ै उनकी क्षमता क्रमशः 

40 लीटर, 30 लीटर और 20 लीटर ह।ै वह क्रमशः 87.5%, 80% और 90%

बततन को दधू और पानी के ममश्रण से क्रमशः 3: 2, 5: 1 और 7: 2 के अनपुात में 

भरता ह.ै उसके द्वारा लाए गए पानी की कुल मात्रा और पानी की मात्रा का अनपुात 

मकतना ह?ै

A. 22 : 23

B. 26 : 23

C. 26 : 21

D. 17 : 21

E. None of these
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Q5- The capacity of three container P, Q and R are in the ratio 5 : 4 : 

5. They are completely filled with a mixture of mil and water in 

proportion 1 : 5, 3 : 5 and 5 : 7 respectively. If the mixture of all three 

container are mixed together then what will be the proportion of milk 

and water in final mixture. 

तीन पात्र P, Q और R की क्षमता 5 : 4 : 5 के अनपुात में ह।ै वे परूी तरह से ममल और 

पानी के ममश्रण से क्रमशः 1: 5, 3: 5 और 5: 7 के अनपुात में भरे हएु हैं. यमद तीनों 

बततनों के ममश्रण को एक साथ ममला मदया जाता ह ैतो अंमतम ममश्रण में दधू और पानी

का अनपुात क्या होगा?

A. 23 : 114

B. 54 : 115

C. 53 : 51

D. 53 : 115

E. None of these
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Q6- A person has 140 liter of mixture(milk and water) in which water is 40%. 

He sold 30 L of mixture then he added equal amount of both quantity then ratio 

of water to milk becomes 3 : 4. Find the quantity of water added.

Q6- एक व्यमि के पास 140 लीटर ममश्रण (दधू और पानी) ह ैमजसमें पानी 40% ह।ै उसने ममश्रण 

का 30 लीटर बेचा, मिर उसने दोनों मात्रा की समान मात्रा ममलाई, तो पानी का दधू से अनपुात 3: 4 

हो जाता ह।ै ममलाए गए पानी की मात्रा ज्ञात कीमजये।

A. 12 L

B. 24 L

C. 22 L

D. 32 L

E. None of these
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Q7- A mixture of milk and water contains 40% water. 40 L of  water added so 

that percentage of water becomes 60% in the mixture. Find the initial quantity of 

mixture.

Q7- दधू और पानी के एक ममश्रण में 40% पानी ह।ै 40 लीटर पानी ममलाया जाता ह ैतामक ममश्रण 

में पानी का प्रमतशत 60% हो जाए। ममश्रण की प्रारंमभक मात्रा ज्ञात कीमजए।

A. 80 L

B. 40 L

C. 120 L

D. 90 L

E. None of these
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Q8- A beaker is filled with a liquid, 3 part of which is water and 7 part is of 

medicine. What part of mixture should be replaced with water so that resultant 

mixture has water and medicine in ratio 1 : 1.

Q8- एक बीकर एक तरल से भरा हआु ह,ै मजसका 3 भाग पानी ह ैऔर 7 भाग दवा का ह।ै ममश्रण के 

मकस भाग को पानी से बदला जाना चामहए तामक पररणामी ममश्रण में पानी और दवा का अनपुात 1: 

1 हो?

A. 1/7

B. 3/7

C. 2/7

D. 4/7

E. None of these
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Q9- A vessels contains 32 liter of solution of acid and water in ratio 5 : 3. if 12 

L of solution is taken out and 7.5 L water is added then find ratio of acid and 

water in new mixture.

प्रश्न 9- मकसी पात्र में अम्ल और जल का मवलयन 32 लीटर 5 : 3 के अनपुात में ह।ै यमद 12 लीटर 

घोल मनकाला जाता ह ैऔर 7.5 लीटर पानी ममलाया जाता ह ैतो नए ममश्रण में एमसड और पानी का 

अनपुात ज्ञात कीमजये।

A. 4 : 7

B. 5 : 6

C. 4 : 9

D. 8 : 11

E. None of these
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Q10- A vessels contains 80 liters of milk, 20 liters are taken out from vessel is 

replaced by water and the same process is further replaced two times, then find 

the quantity of milk left in final solution ? 

Q10- एक बततन में 80 लीटर दधू ह,ै बततन से 20 लीटर मनकाल मलया जाता ह ैऔर पानी से बदल 

मदया जाता ह ैऔर उसी प्रमक्रया को आगे दो बार बदला जाता ह,ै तो अंमतम घोल में शेष दधू की 

मात्रा ज्ञात कीमजये?

A. 22.75 L

B. 20.65 L

C. 33.75 L

D. 42.25 L

E. None of these
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